(170,680

Pik

(+113,730

Pik=

(H053470

Pik

(+000,000

Pik

M

M

FO1T6ST- 056~

(]
=
m s | 2
< = nw <t
@) T
=
> =
2 R
<
= 233
N
N = W @)
S| B3
Ay M.S
So| g EEd
= 2 225
A £ 255 a
271 2RI 3
> < 2 =Rl 4 &
&2 . W z Z|N E S
Q E t <O S o
N=| Hg O 3 m A «
cMERRREPE z | 2
<E| 22 < Sz Szl 22
ZZ Oan M WO iz mm
T m m S| =
m>| SN E¥AEL 2el 2%
= n 0D Ezl <&
z%| $Z2 =23 §35] 7

: H0L8'SST- 009° <=l 95 = AN 2|8

| 23 22 BznlE  |E |5

! Ex| S9 = M . | €

! M < M = 3 &

| = O < D= 2 g

]

! 2 g 2 R

| ~ |5 z | s |2 |5

| = z 2 |z |9

! [70) @) w o v

| ¢ . . ) = 9 ;UL @) )

_ SP8'8STSEE'8ST - ooIv'T = 2~ |22 (2 |3
098°8ST . 0ET'C . coen OF88STL 010T Z. N EEERE
968367 . | 098'8SC|  050°C \ oow.wmmwowmﬁwmméowﬁwmmu 0181 = [ 3 &
omm,wmmwc:ﬁwmmwowwﬁwmmu 020°C ' 0TL"8ST| 001°85C 0SLT
\Nvﬁmmwwmﬁ 8STI008°8ST 0781 !

¢ =
0SLT g
! TIL'8STT60°8ST 1 00L'8ST)- 0000
LLL'SSTHLST'8STHO6L'8ST- 0000 , r 008357 ey
S mm 06L 8ST| 0057 06L°8ST| .
AO..!“_ OOhnme 080'85Z OOhAme 0sLl
1
1
. - i POL'8ST| g0rgcz| . | OSLT-
218857 Tor'gsy| V08 8L 08¢ , €0L°8ST| copigey [0088SC- 0881
‘ ‘ 0SLT- 85Tl e085T g
[CS8'8STITVEBST| (1 cocrl 7 er 078°85T 0s0°c
006°8SZ/ 06€°8ST 0L6'1 STL'SST-SOT'SSTFSTL'8ST- 0000
0T6'8ST 068°¢- : 026'35C Loeessey 0oLy 0L9°8ST1-0S0°8ST-0L9°8ST 0SL1-
~0T685T- F0S6°8ST~ 0TE Y B - - - !
Lo |

2E 2 ZE

= T = = ==Y -

IL = 3z 2 B < I4 = =z 2 B 3o I4 £ =z g2 2 =
= £¢ Z| £ € E| 8 8= g£¢g Z E € E| 8 E=sgg & E 2| B 2
s 2% L2l 2 2 2 2 E Z= L2 2 02 2 g 22 L o202 g2 82
= == 2 5 8 8| 8| == 72 2 B 8| 8 8| = = = 2 2 8 B =
3 (0 S 8§ 8 2 30 S B 5§ 2 30O SAREIEIE
o = o =) o

Jp— P — 0TE'6STHOT8'8STHOTE 65T 0SLY
Lerese| ‘ . . ‘ :
L e 8e85T, o 065zt mmmw €L6'85T| TOV'8ST 0TI 65T - WMMM
Ll 0eerE6E°85T IbGe £€6°'85T[ T1€°85T
€10°657 0SLT
MA
896°8ST8PESST086°8ST-  000°0 0svest ‘ 0€1T
$50°6ST| 8TH'8ST-0TI'6ST| 000°0 0 ; L8185t 090.65TE 050
_ | LOS8ST| 615z 0E06ST 0v8°1
€18°8ST 0SL1
=
- S
“ A — €00°65T €3€'8ST| 06857, OSL'I- \
L €80'65T ¢gpiggr0606STE o ep ] €Y0°65T| €€S°8ST 080652 008°- \ n , , ,
680652 gop'ger L ocoz- 8$78'8STI8TTYST098°8ST-  000°0
6T1°65T
=
= s
! 0LO°6STH09S'$STH0LO'6ST- 0b9'E- ) .
" \mww me\chAme L OWB.T
" _ 688857 pop g LSBT OE6'I-
' / 600°65C 0s0°C-
_ 091°65T H09T°6ST 0TSt | |
[ LOST'65TH 0L8"Y- _ L0E0'6STF 080°S- 086'85C L086°8STl 088°C

Lo | Lo | Lo |

2E 2E £2

= =2 =

14 2| 5| 2] B 5 T Sl s| £ 8| o 1A S s| £ 8| o
s S & 2 2| B g2 EB=s ES 5 2 2 E| 2 5= £g £ 2 2 2| B
= 2z L 2 2| 2 g8 g2 Z= 2l 2 02 8 22 2= o2 2 2 0B
= == e = = = = T = == o = = = == T = == o = = = ==
30| 8| 8 8 58 3 SAEIEIEIRE R SRR

0SE°657 0¥8°8SZ 0SE°65T] 008°6
0L9°6STH06E6STH0LI6STE 0¥9°TT
‘ ‘ L ovI'6
0T96STLOPE'6ST rgigert OFLO
Aﬁu./u/ﬁ.
) A 0VT'6STH0SL'SSTHOVT6STH 089
001657 08€'Y
nﬂu/./ﬂ
TEC'65T] TT8'8ST . 061°657| 089°85C .
_ 267657 TL9'8ST FoosLT N& IST'65T[ 1€5°85T Po0stl
I
| ‘ _ LOPI6ST-  060°T
“ etToLssT - 00€°€ & =
8¢°657 L, . =
T sLet6sT BSL8ST osyostr (00E = 0S1°65Z, 061°0

i ¢ L L

| 06z65C LST6ST- LEY'SSTIOE1'6ST- 0000 891°6571 87585 0p165T-  000°0

1

| /

1
2/ -

il S =

! . ‘ozl 0T9°1-

m Mwﬁﬁmmwmomnwwméwo 65T 05L°1-

| 1060652 05T S [ os0T

i SEC6STISILSSTIOVT 65T 000°0 | S02°65T] cge'ger | 019 ocrect oLt

" 1061 65T ¢ cg67 L 016 Lo e C onceo-

_ 61€°6ST ~001°65C - 086C

m

1

]

]

1

]

]

1

]

]

1

]

1

1

o ssosst oLrest A
e eoH6YO'STI09T6STE e
[ 68£°65C Fooccaen - 00EE 05T'65¢ L0ST65TF 010°9- L0ST'65T) 000°9-
¥6£°65T 00£°65T pog‘c-
~ S ~ S Lo Mo |
= =
&5 E= EE
— SaNPRe 193’
s g & E S E B8 B8=gg v E| 2 E| 2 5=gg 5 2 g2 B 3
s 2z M 2 2 2l g8 g8 2 L 2 g 2/ 28 28 Zz LM 2 2] 2 =
= == &2 B & B g T =EF 2| B & Bl g == = 2| &5 & B =
] 1 = 1" ==
3 (0 S| 8§ 58 3D T 8§ 8 88 30 T 8§ 5§ 8 &
n o] 0T865T .
J@|¢E 652/080°65T 5 e 00€°8
A
0L9°6STH0S0°6ST-0L9°6ST-  001°9
’ ﬂ 789°65T|-TOV6STH0E9'6ST- 0088
| 199°657| ¥8€°65T .
| 9PS°65T 9£0°65T [ o5
m 8ES6ST 8T06ST (cprecr 0o
]
| €€9°65T [ €SE°65T | 0F9'6ST - 0088
- “ €29°65T | €PE°65T 005°
= __ £0S°65C [€66'SST| - o [ 0p0's
L L6765z 186'8sT [0V 65T
08t°65T .
ML I oresy] 0 1085°6ST 0969
08t°65T .
fosctesz 70C
06565 H0L6'SSTH065°65T  000°0 A .
LoIr6STH  OpE
8€°65 876°85T .
865657 8LL‘8ST - 000t
S5 ‘ 0zT's
= | L6£°65T| L88°8sT [0LE6ST BeC,
LSE6ST | LEL'BST 000°¢
851657 8E8°8STIOEE6ST 000°0
ML LI¥6ST HL6L'8STH06T°6ST - 000°0
865°657| 8LL'SST .
"sevesc8z6esy| . 000°€
Ippigs| 1E685TTE0CCL OShE
191657 0LT6SCI ops e
= . .
s LSE6ST | cacr L 000
= 15£°652 [ 5EE, er| 00€°E
085°652096°85T [ 085.05TL (¢ - 1SP'6STI1L16ST-0LE6ST- 060°S- st [T SCLICLETE (g
o] 02L'65T 1L1'65T [00£65TT ggee-
A'm Lo | Lo |
€15 EE 2 E
E = = =
= = o = ST = . o = = = o =
L 2 5 28] 5 __ 1d = =z Z o T U - ==
s E2 s 2 2B 8 BE Eg B 2 8| B g2 8= gEg 85 2 2 H# 2
= 22 2l 2 2] 8] Es 22 . 2 2|2 g Es 22 . 2 2| =z 2
= == == = = = [==! T = == o = = = =] F = 2= o = = = =]
£ S 8 8 2 I3 = 8 &8 & g I3 = 8 &8 § =
3 (0 5 I3 5 I3 =




	Strona 1

